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HONG KONG ATTAINMENT TEST
A v R
Pre-Secondary One

Mathematics

L

Mock Paper 2
Bt (—

Time allowed for the test: 50 minutes

BIERFFH : 50 538

Instructions:
1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-37
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

o BT

You may do your rough work in the blank space of this test booklet and there is no need
to rub it out after the test.
6. The use of calculator is not allowed.
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LB 31 2E37H
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Note: po

Not all diagrams are drawn to scale. HAW B RR e g E -
SECTION A (60 marks) FRER (604)
Choose the correct answer. You only need to R E AR A o B4 R FRTIRA
write down the letter preceding the selected EWH R FHE o
answer.
1. If the number 2 993% 935 is rounded 1. =X 322 99% 935 {8 B BEEMME
to the nearest ten thousand, the value £ E 45423000000 F7)H-—1E
is 3 000 000. Which of the following BT REA *H{E 7
numbers is a possible value of ¥ ?
.5 A, b
B. 4 B. 4
C. £ 3
s 2 D. 2
2. What is the 50™ common multiple 2. 649 H SOEAIEHEHAZ S ) ?
of 6 and 9?
A, 18 A, 18
B. 54 B. 54
Co000 C. 900
Ve 700 D. 2700
% 102 x99 =7
102 X100 — 1
102 X100 — 99

B0 X 99 x 2
100 X 9800 X 99

o o w o

BEEE (2) 2



(a) If Ben spent an equal amount of
time on running on Monday and
Thursday. How long did he spend
on running on Thursday? [4 marks]

(b) Ella runs 0.9 hour at most every
day. Could Ella run an average of
0.5 hour from Monday to Friday

last week? Explain. [4 marks]

SECTION B (40 marks) 2R (404)
Working steps must be shown in answering M R Fs o » AEA R Eey 48
questions in this section unless specified M EFE -
otherwise.
Monday Tuesday | Wednesday | Thursday Friday Average
Z 33— ZH = EH= Ev EWE | FHARM
Time of Ben (hour)
S TR ) 0.3 0.2 0.7 0.44
Time of Ella (hour)
T BB () P o % N
31. The above table shows the running 31. L2 R YEHMRNLE2LB P
times of two students last week. Moo

() X EEZH—FE2 PO
sF AR 2 B
T B o ? [4 %]

(b)) TEREXFHTH T84
098 LEH 22 HE
FTEPHERBF M eE
HEOSPR ?REE - [45]

32. The above figure is formed by 4

squares of the same size. If one
square of the same size is added, the
figure becomes a symmetrical shape.
Draw the required square and add
the line of symmetry on the answer

sheet. [2 marks]

32.
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